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QUESTION NO: 1

Which of the following statements about OTN advantages is incorrect?

A. The WDM function is used to meet the requirement for Tbit/s bandwidth per fiber.

B. OTN provides a maximum of five levels of nested or overlapped TCM connection monitoring.

C. OTN provides powerful outband FEC functions to effectively guarantee the line transmission performance.

D. OTN provides 2.7 Gbit/s, 10.7 Gbit/s, 43 Gbit/s, and even 111.8 Gbit/s high-rate interfaces.

ANSWER: B

QUESTION NO: 2

In the case of MSP, you need to set the MSP protocol ID of each NE. To ensure that each ID is unique, you are advised to
set the MSP protocol ID to the same value as the NE ID.

A. TRUE

B. FALSE

ANSWER: B

QUESTION NO: 3

Which of the following can be the center wavelengths of the pump sources in an EDFA? (Multiple Choice)
A. 980 nm

B. 1510 nm

C. 1480 nm

D. 1310 nm

ANSWER: AC

QUESTION NO: 4

Which of the following are the main advantages of SDH?

DumpsBoss - Pass Your Next Certification Exam Fast!


https://dumpsboss.com/

DUMPSDOSS"

(Multiple Choice)

A. Standard interfaces

B. Synchronous multiplexing
C. Powerful OAM

D. High compatibility

ANSWER: ABCD

QUESTION NO: 5

By default, the B2-EXC alarm is reported when the number of B2 bit errors exceeds the () threshold.
A. 0.000000001

B. 0.00001

C. 0.001

D. 0.01

ANSWER: C

QUESTION NO: 6

NE A and NE B are adjacent NEs. If B3 and lower-order bit errors occur in the A->B direction and B1, B2, B3, and lower-
order bit errors occur in the B->A direction, which of the following performance events are reported by NE A? (Multiple
Choice)

A. RSBBE
B. RSFEBBE
C. MSBBE
D. MSFEBBE
E. HPBBE
F. HPFEBBE

ANSWER: ACEF

QUESTION NO: 7
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Which of the following alarm/event dumping modes are supported by the U2000? (Multiple Choice)
A. Manual dumping

B. Automatic dumping

C. Overflow dumping

D. Periodic dumping of alarm logs

ANSWER: ACD

QUESTION NO: 8

A PAUSE frame uses a reserved multicast address and is not forwarded by a bridge or switch, In this way, the PAUSE frame
does not generate any additional information.

A. TRUE
B. FALSE

ANSWER: A

QUESTION NO: 9

The coherent receiver technology uses the local oscillator laser that has the same frequency as received signals to perform
coherent processing and recovers the (') information from the received signals. (Multiple Choice)

A. Phase
B. Frequency
C. Polarization state

D. Amplitude

ANSWER: ACD

QUESTION NO: 10

RSOH, MSOH, HPOH, and LPOH implement monitoring functions in the descending order of monitoring scope.
A. TRUE
B. FALSE

ANSWER: A
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